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from yesterday.
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@ Given the graph of 4 functions below, what would be the minimum degree of each function ?
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The degree is at least:

9

N
The minimum degree of a polynomial is
equal to the number of turns plus 1
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5 Could a polynomial with degree 2 not have any real zeros? Why ?

Va5 , becasse the gregh ma 1o
Cross the X— oo s

6. Could a polynomial with degree 5 not have any@ Why ?
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must cress the X-axis

7. Complete each statement in regards to polynomial, Q(x), that crosses the x — axis at x = =7

-7 isa .2_6& of Q(x)

-7 is a root of the equation: & /X> =0
-7 isan %’ | ﬂjr{\((\e PTofthe graph of Q(x).
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8. Circle the polynomials:

g =(x-2)*-1 y

y =3x%+2x —x f(x) =x?—8x

x*+y?=25 @ y = (x — 2)%(x + 10)?
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Polynomial Graphs either cross or
they "bounce”. There is no 3rd
option.
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Continuation from last class:

Polynomials that have
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